
 
ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 

49/24-A, MINTO ROAD, PRAYAGRAJ. 

              SESSION JAN – JUNE 2024  

ASPEUS CORRESPONDENCE COURSE - SEM – 1 (CAHS) 

       BASICS OF HUMAN BODY (BHB-1) 

TIME – 1.30 HRS        MAX MARKS-100 

      (ONLINE EXAM) 

               (Objective Questions) 

            ( ) 

Attempt each questions:      50x2=100 

(1) RBCs are also known as - 
(a)  Leucocytes   (b) Erythrocytes  
(c) Both     (d) None 
RBC
(a)    (b)    
(c)   (d)  

   
(2) Shape of RBC is - 

(a)  Triangular    (b) Spherical  
(c) Biconcave    (d) None 
RBC   
(a)      (b)  
(c)     (d) 

 
(3)  Large Intestine synthesis - 

(a)  Vitamin D    (b) Vitamin A  
(c) Both     (d) None 

  
(a)  (b)   

(c) (d)  

(4)  Ammonia gas in our body is transformed into urea by- 
(a)  Liver     (b) Heart   
(c) Both     (d) None  

 
(a)     (b)  

(c)       (d) 



(5) Protein is absorbed in our body in the form of - 
(a)  Amino Acid   (b) Fatty Acid   
(c) Glucose    (d) None  

Absorption   
(a)     (b)  

(c)     (d) 
 

(6) Thrombocytes are necessary for - 
(a)  Immunity    (b) Blood clotting 
(c) Both     (d) None  

   
(a)    (b)  

(c)       (d)  

(7) Tissues are group of - 
(a)  Cells     (b) Organs  
(c) Glands    (d) None  

 
(a)     (b)  
(c)     (d) 
 

(8) It helps the blood to be oxygenated - 
(a)  Heart     (b) Kidney 
(c) Lungs    (d) All  

 
(a)  (b)  
(c)     (d) 
 

(9) Life span of RBC is - 
(a)  1120 days    (b) 120 days  
(c)  4 days    (d) None  
RBC  
(a)  1120    (b) 120 
(c)  4     (d) 
 

(10) Power House of Cell is - 
(a)  Nucleus    (b) Mitochondria 
(c) Golgi apparatus   (d) None  

 
(a)    (b)  
(c)   (d) 

 



 
(11) The organ which secrets HCL - 

(a)  Liver     (b) Heart  
(c)  Stomach    (d) None 

HCL  
(a)      (b)  
(c)  (d) 
 

(12) Inorganic elements present in our body - 
(a)  Sodium    (b) Potassium  
(c) Iron     (d) All  

 
(a)    (b)  
(c) (d) 
 

(13) It gives us energy to work - 
(a) Minerals    (b) Carbohydrate  
(c) Vitamins    (d) None  

 
(a)      (b)   
(c)   (d) 

(14) Basic unit of our body - 
(a)  Organ    (b) Cell  
(c) Bones     (d) None  

 
(a)    (b)    
(c) (d) 
 

(15) These are found in cell - 
(a)  Nucleus    (b) Mitochondria    
(c) Ribosomes   (d) All  

   
(a)     (b) 
(c) (d) 
 

(16) It stores protein in a cell  - 
(a)  Nucleus    (b) Golgi apparatus   
(c) Lysosome    (d) None 

 
(a)   (b)    
(c)     (d) 
 



 
(17) The system which helps in digestion of food - 

(a)  Digestive    (b) Excretory  
(c) Both     (d) None  

 
(a)     (b)   
(c)    (d) 

(18) Esophagus is - 
(a)  Blood vessel   (b) Food pipe  
(c) Wind pipe    (d) None  

 
(a)   (b) 
(c) (d) 

(19) Number of salivary gland is - 
(a) 3 pairs    (b) 5 pairs   
(c) 1 pair     (d) None  

 
(a)  3     (b) 5
(c) 1 (d) 

(20) Digestive system performs - 
(a)  Digestion    (b) Secretion   
(c) Absorption    (d) All  

 
(a)     (b)  
(c)      (d) 
 

(21) Jejum is the part of - 
(a) Small Intestine   (b) Large Intestine    
(c) Liver     (d) None  
Jejum  
(a)    (b) 
(c) (d) 
 

(22) Appendix is the part of - 
(a) Small Intestine   (b) Large Intestine   
(c) Stomach    (d) None 

 
(a)    (b)     
(c)     (d) 
 
 
 



(23) These are alkaline in nature - 
(a)  Bile juice    (b) Pancreatic juice 
(c) Both     (d) None  

 
(a)     (b)  
(c)     (d) 
 

(24) Agranulocyte type of Leucocyte is - 
(a) Lymphocyte   (b) Basophil 
(c) Both     (d) None  

Agranulocyte  
(a) (b) 
(c) (d) 

(25) Normal leucocyte count should be in blood - 
(a) 2000 - 4000   (b) 4000 - 11000  
(c) 11000 - 15000   (d) None  

 
(a)  2000 - 4000  (b) 4000 - 11000  
(c) 11000 - 15000   (d)  

 
(26) Endoplasmic reticulum is a - 

(a) Anti body    (b) Protein   
(c) Cell organelles   (d) None  

 
(a)    (b) 
(c)   (d) 

(27) Smooth muscles are - 
(a) Involuntary    (b) Voluntary  
(c) Both     (d) None  

 
(a)     (b)   
(c)    (d) 

(28) Fluid tissue are - 
(a) Blood    (b) Lymph 
(c) CSF      (d) All  

Fluid tissue  
(a)     (b)  
(c) CSF     (d) 

  



 
(29) Transportation type for sodium - 

(a) Active transport   (b) Passive transport 
(c) Both     (d) None  

Transportation  
(a)      (b)  
(c)     (d) 
 

(30) Plasma proteins are - 
(a) Albumin    (b) Globulin  
(c) Both     (d) None  

Plasma protein  
(a) Albumin    (b) Globulin 
(c)     (d) 

(31) Carbohydrate is absorbed as - 
(a) Fatty acid    (b) Glucose    
(c) Both     (d) None  

 
(a)      (b)     
(c)    (d)  

 
(32) pH of blood is - 

(a) 7.4     (b) 8.9  
(c) 4.7     (d) None 

pH  
(a) 7.4     (b) 8.9   
(c) 4.7     (d) 

(33) Food stay in stomach - 
(a)  8 – 10 hours   (b) 3 – 4 hours  
(c) 5 – 10 hours   (d) None  

 
(a) 8 – 10     (b) 3 – 4   
(c) 5 – 10  (d) 

(34) Stomach produces - 
(a) Intrinsic factor   (b) Neurotropic factor  
(c) Pepsin    (d) All 

 
(a)    (b) 
(c) (d) 



(35) Pancreas secrets - 
(a) HCL     (b) Gastric juice   
(c) Pancreatic juice   (d) None  

 
(a) HCL     (b) 
(c) (d) 

(36) Bile juice is produced by - 
(a) Liver     (b) Gall Bladder   
(c) Small Intestine   (d) All  

 
(a)      (b)    
(c)    (d) 
 

(37) Beneficial bacterias are present in – 
(a) Small Intestine   (b) Large Intestine  
(c) Both     (d) None  
Beneficial bacterias  
(a)    (b)  

(c)    (d) 
 

(38) Proteins are necessary for  - 
(a) Tear and wear   (b) Growth  
(c) Both     (d) None  

 
(a) Tear and wear   (b) Growth 
(c) (d) 
 

(39) In balance diet protein should be - 
(a) 15%     (b) 50% 
(c) 40% (d) None

 
(a) 15%   (b) 50%    
(c) 40% (d)  
 

(40) Number of Molar teeth in each jaw - 
(a) Six     (b) Five 
(c) Eight      (d) None  

 
(a)     (b) 
(c) (d) 



(41) Grave yard of all type of blood cells - 
(a) Lungs    (b) Heart 
(c) Spleen        (d) None  

 
(a)     (b)   
(c)      (d)  

 
(42) Liver performs - 

(a) Detoxification   (b) Metabolism   
(c) Storage of Glucose  (d) All  

 
(a)    (b)  
(c)     (d) 

(43) The first part of large intestine - 
(a) Duodenum    (b) Caecum  
(c) Both     (d) None  

 
(a)     (b)   
(c)    (d) 
 

(44) Small Intestine shows - 
(a) Peristaltic movement  (b) Segmentation movement 
(c) Both      (d) None  

 
(a)   (b) 
(c)     (d)  
 

(45) Universal recipient blood group is - 
(a) ‘O’ blood group   (b) ‘AB’ blood group 
(c) ‘B’ blood group   (d) None  

blood group Universal recipient  
(a) ‘O’ blood group   (b) ‘AB’ blood group  
(c) ‘B’ blood group   (d)  

(46) Red colour of blood is due to - 
(a) Hemoglobin   (b) Albumin  
(c) Both     (d) None  

 
(a)    (b)  
(c)    (d) 



(47) Blood Group ‘B’ will have Agglutinin - 
(a) Alpha    (b) Beta   
(c) Both      (d) None  

Agglutinin  
(a)     (b)      
(c)     (d) 
 

(48) Site of production of all type of blood cells - 
(a) Heart    (b) Bone marrow 
(c) Lungs    (d) None  

 
(a)   (b)   
(c)   (d) 

(49) Total leucocyte count more than 10% will - 
(a) Leucocytosis   (b) Leucopenia 
(c) Both     (d) None  

10%  
(a)   (b)  
(c)     (d) 

(50) Normal blood value of lymphocyte is - 
(a) 50 – 70%    (b) 20 – 40%    
(c) 1 – 5%    (d) None  

 
(a) 50 – 70%    (b) 20 – 40%     
(c)  1 – 5%    (d) 

………… 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

              SESSION JAN – JUNE 2024  

ASPEUS CORRESPONDENCE COURSE-SEM – 1(CAHS) 

       CHINESE ACUPRESSURE (CA-1) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1) Colour of Wood element is - 
(a)  Green   (b) Red   
(c) Yellow   (d) None 

(a)     (b)    
(c)     (d)  

(2) Leg will be treated on - 
(a)  Index finger  (b) Middle finger   
(c) Small finger  (d) None 

  
(a)    (b)  
(c)    (d) 

(3)  In Sujok “Su” means - 
(a)  Head   (b) Leg    
(c) Hand    (d) None 
Sujok  “Su”   
(a)       (b)   
(c)     (d) 
 

(4)  Neck correspondence will be on - 
(a)  Index finger  (b) Thumb   
(c) Middle finger  (d) None 

  
(a)    (b)   
(c)     (d) 



(5) Kidney is pair organ of - 
(a)  Liver    (b) Heart   
(c) Urinary bladder  (d) None 

  
(a)     (b)    
(c) (d) 

 
(6) Wind energy is related to - 

(a)  Wood   (b) Fire  
(c) Earth    (d) None 

 
(a)    (b) 
(c)     (d) 

(7) Which colour apply on ear correspondence for pain in ear - 
(a)  Black   (b) Green  
(c) Yellow   (d) None 

  
(a)      (b)  
(c)     (d)  

 
(8) Red colour related element is - 

(a) Earth   (b) Wood      
(c) Fire    (d) None

  
(a)      (b)   
(c)     (d) 

 
(9) Wind point of Heart is - 

(a)  H - 2    (b) H - 9   
(c) H - 4    (d) None 

Wind   

(a)  H - 2    (b) H - 9   
(c) H - 4    (d)  
 

(10) Heart related energy is - 
(a)  Heat    (b) Wind    
(c) Coldness   (d) None 
 



  
(a)    (b)    
(c)    (d) 

(11) Anger emotion related organ is - 
(a)  Heart   (b) Liver  
(c) Lungs   (d) None 

 
(a)      (b)  
(c)     (d) 
 

(12) Ear is the opening of - 
(a)  Kidney   (b) Liver   
(c) Heart     (d) None 

 
(a)      (b)  
(c)    (d)  

(13) Single treatment point for Acne is - 
(a)  K - 2    (b) K - 5   
(c) K – 6    (d) None  

 
(a) K - 2    (b) K - 5    
(c) K - 6 (d) 
 

(14) Kidney organ related colour is - 
(a)  Green   (b) Yellow    
(c) Black   (d) None  

(a)     (b)    
(c)     (d) 
 

(15) Dryness point of Small Intestine is - 
(a)  Si - 6   (b) Si - 1   
(c) Si - 7    (d) None  

Dryness point  
(a) Si - 6    (b) Si - 1
(c) Si - 7 (d) 

(16) Arms related problem will be treated on - 
(a)  Index finger  (b) Middle finger   
(c) Thumb   (d) None 

 
(a)    (b)  
(c)    (d)  



 
(17) Heat point of Kidney is - 

(a)  K - 8    (b) K - 9   
(c) K – 2    (d) None 

Heat point  
(a)  K – 8  (b) K – 9  
(c) K – 2 (d)  

 
(18) Water is the mother of - 

(a) Wood   (b) Metal   
(c) Earth    (d) None  

 
(a)    (b)     
(c)    (d)  
 

(19) Appendicitis will be treated on - 
(a)  Rt palm   (b) Index finger  
(c) Thumb   (d) None 
Appendicitis  
(a)   (b)   
(c)  (d) 
 

(20) Water element related organ is - 
(a) Stomach   (b) Heart  
(c) Kidney   (d) None  

 
(a)     (b)   
(c)    (d) 
 

(21) Organ source point of Kidney is - 
(a)  K - 8    (b) K - 3  
(c) K - 9    (d) None 

Organ source  
(a) K - 8    (b) K -3  
(c) K – 9 (d) 

(22) Knee pain will be treated on - 
(a) Middle finger  (b) Thumb  
(c) Small finger  (d) None  

 
(a)    (b)  
(c)   (d)  

  



(23) Dryness energy is related to - 
(a)  Wood   (b) Metal  
(c) Water   (d) None  

 
(a)    (b) 
(c) (d) 
 

(24) Abdominal disease will be treated by - 
(a)  St - 36   (b) St - 2   
(c) St - 1    (d) None  

 
(a) St - 36   (b) St - 2   
(c) St - 1    (d) 
 

(25) Lungs related element is - 
(a)  Metal   (b) Earth   
(c)  Wood   (d) None  

 
(a)    (b)   
(c)   (d) 

(26) Low back pain will be treated by Distal point- 
(a)  UB - 8   (b) UB - 9   
(c) UB - 54   (d) None  

 
(a) UB - 8   (b) UB - 9
(c) UB - 54 (d) 

(27) Bone meeting point is - 
(a) UB - 6   (b) UB - 11  
(c) UB - 7   (d) None 
Bone meeting point  
(a) UB - 6   (b) UB - 11
(c) UB - 7 (d) 

(28) Thumb is correspondence for - 
(a)  Head   (b) Leg  
(c) Arm    (d) None  

 
(a)   (b)   
(c)     (d) 

 



(29) Energy related to earth is - 
(a) Wind    (b) Humidity   
(c) Heat    (d) None  

 
(a)     (b)    
(c)     (d) 

(30) Xi-Cleft point of Heart is - 
(a)  H - 1    (b) H - 2 
(c) H – 6    (d) None  

Xi-Cleft point  
(a)  H - 1 (b) H - 2 
(c) H - 6 (d)  
 

(31) Elbow pain will be treated on - 
(a) Index finger    (b) Thumb  
(c) Middle finger   (d) None  

 
(a)  (b)   
(c) (d) 
 

(32) Tonification colour for Lungs is – 
(a) Green    (b) Brown   
(c) Red     (d) None  

 
(a) (b)   

(c) (d) 

 
(33) Passage point  of Spleen is - 

(a) Sp - 4    (b) Sp - 2    
(c) Sp - 1    (d) None  

Passage  
(a)  Sp - 4    (b) Sp - 2    
(c) Sp - 1 (d) 
 

(34) Sedation colour of Stomach is - 
(a) Green    (b) Brown    
(c) Red     (d) None 

 
(a)       (b)   
(c)     (d) 
 



(35) Organ source point of Lungs is - 
(a) Lu - 1    (b) Lu -2    
(c) Lu - 9    (d) None  

Organ source  
(a) Lu - 1    (b) Lu - 2  
(c) Lu - 9 (d) 

(36) Front Shu point of Liver is - 
(a) Liv - 14    (b) Liv - 6  
(c) Liv - 5    (d) None 

Front Shu point  
(a) Liv - 14    (b) Liv - 6   
(c) Liv - 5    (d)  
 

(37) Opening of stomach organ is - 
(a) Mouth    (b) Eye    
(c) Ear     (d) None  

 
(a)       (b)    
(c)     (d)  

 
(38) Heart organ related emotion is - 

(a) Anger    (b) Joy    
(c) Fear     (d) None  

 
(a)      (b)    
(c)     (d) 
 

(39) Yin organ is - 
(a) Gall Bladder   (b) Urinary Bladder    
(c) Spleen    (d) None  

 
(a)     (b)    
(c)     (d) 

(40) Last point of Lungs meridian is located on- 
(a) Thumb    (b) Small finger   
(c) Middle finger   (d) None  
Lungs meridian  
(a)     (b)     
(c)     (d)  

  



  
(41) Pair organ of Liver is - 

(a) Lungs    (b) Heart    
(c) Gall Bladder   (d) None  
Liver  
(a)      (b)    
(c)    (d) 
 

(42) Back Shu point of Lungs is – 
(a) UB - 3     (b) UB - 13 
(c) UB - 4    (d) None.  

Back Shu  
(a) UB - 3     (b) UB - 13  
(c) UB - 4    (d) 

 
(43) Heart related element is - 

(a) Fire     (b) Wood    
(c) Water    (d) None  

 
(a)     (b)   
(c) (d) 
 

(44) Horary point of Lungs is - 
(a) Lu - 1    (b) Lu - 8  
(c) Lu - 2    (d) None  

Horary  
(a) Lu - 1    (b) Lu - 8   
(c)  Lu - 2    (d) 
 

(45) Sweet taste related organ is - 
(a) Stomach    (b) Liver    
(c) Kidney    (d) None  

 
(a)    (b)    
(c) (d) 

(46) Total point in Heart meridian is - 
(a) 9     (b) 10   
(c) 11      (d) None  
Heart meridian  
(a) 9     (b) 10   
(c) 11 (d) 



 
(47) Earth related organ is - 

(a) Heart    (b) Stomach    
(c) Lungs    (d) None  

 
(a)      (b)   
(c)     (d) 
 

(48) Yang organ is - 
(a) Stomach    (b) Heart    
(c) Liver     (d) None  

 
(a)     (b)    
(c)     (d)  

 
(49) Hip joint pain will be treated on - 

(a) Middle finger   (b) Thumb   
(c) Small finger   (d) None  

 
(a)     (b)    
(c)   (d)  

(50) Headache will be treated by distal point - 
(a) Li - 5     (b) Li - 4   
(c) Li – 6    (d) None 

 
(a) Li - 5    (b) Li - 4  
(c) Li - 6     (d)  

   ……….. 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

         SESSION JAN – JUNE 2024  

ASPEUS CORRESPONDENCE COURSE - SEM – 1 (CAHS) 

       AYURVEDIC ACUPRESSURE (AA-1) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1) Finger related to Agni element is - 
(a)  Rt Middle finger   (b) Lt Small finger    
(c) Lt Index finger   (d) None 

(a)      (b)     
(c)     (d)  

(2) Tulyarthata of Lungs is located on - 
(a)  Back of palm   (b) Front of palm  
(c) Wrist     (d) None  

  
(a)    (b)  
(c)    (d) 

(3)  Specific attribute hot relates to which element - 
(a)  Fire     (b) Water    
(c) Vayu     (d) None 

  
(a)     (b)     
(c)       (d) 
 

(4)  Finger no.4 is related to - 
(a)  Fire element   (b) Earth element 
(c) Water element   (d) None  

  
(a)    (b)  
(c)   (d) 



(5) Tulyarthata of leg is related to - 
(a)  Small finger   (b) Middle finger  
(c) Index finger   (d) None 

  
(a)    (b)    
(c) (d) 

 
(6) Function ‘stability’ is related to - 

(a)  Earth    (b) Water     
(c) Fire     (d) None  

 
(a)      (b) 
(c)     (d) 

(7) Mann element is plotted on - 
(a)  Lt RF    (b) Rt IF   
(c) Rt MF    (d) None 

  
(a)    (b)  
(c)    (d) 

 
(8) Tulyarthata of Head is located on - 

(a) Small finger   (b) Thumb   
(c) Ring finger    (d) None

  
(a)    (b)   
(c)     (d) 

 
(9) Flow of vertical meridian is - 

(a)  Upper & lower   (b) Rt & Lt 
(c) Front & rear   (d) None 

  

(a)     (b)  
(c)     (d) 

 
 
 
 
 



(10) Which element is plotted on Rt thumb - 
(a)  Earth    (b) Water  
(c) Tam     (d) None 

   
(a)       (b)   
(c)     (d) 

(11) Knee joint is plotted on - 
(a)  SF V jt    (b) MF P jt  
(c) IF K jt    (d) None 

 
(a)  SF V jt    (b) MF P jt 
(c) IF K jt    (d) 
 

(12) How many physical elements are - 
(a)  5     (b) 4  
(c) 3     (d) None  

 
(a)  5     (b) 4  
(c) 3     (d)

(13) Kid / UB organs are plotted on which joint - 
(a)  Lt IF      (b) Rt MF   
(c) Rt IF     (d) None  
Kid / UB  
(a) Lt IF     (b) Rt MF 
(c)  Rt IF (d) 
 

(14) Tulyarthata of Hand is located on - 
(a)  Ring Finger   (b) Index Finger    
(c) Palm     (d) None  

 
(a)    (b)     
(c)     (d)  
 

(15) In Ayurved, Ved means - 
(a)  Knowledge   (b) Man  
(c) Day     (d) None  

 
(a)     (b) 
(c) (d) 
 
 
 



(16) Medulla is plotted on - 
(a)  Rt IF K jt     (b) Lt MF V jt   
(c) Lt RF K jt    (d) None  

 
(a) Rt IF K jt     (b) Lt MF V jt 
(c) Lt RF K jt (d) 
 

(17) Tulyarthata of Liver is located on - 
(a)  Back of palm   (b) Front of palm  
(c) Wrist     (d) None 

 
(a)    (b)  
(c)  (d) 
 

(18) How many total sense organs are - 
(a) 7      (b) 6  
(c) 5     (d) None  

 
(a) 7      (b) 6 
(c) 5     (d) 
 

(19) Thyroid and parathyroid glands are plotted on - 
(a)  Both IF P jts   (b) Both MF P jts   
(c) Both RF P jts   (d) None  

 
(a)  Both IF P jts   (b) Both MF P jts 
(c) Both RF P jts (d) 
 

(20) Tulyarthata of shoulder is located on - 
(a) MF K jt    (b) IF K jt 
(c) RF P jt    (d) None 

 
(a)  MF K jt    (b) IF K jt  
(c) RF P jt    (d) 

(21) Vaat consists of - 
(a)  Agni + Jal    (b) Akash +Vayu   
(c) Jal + Prithvi   (d) None  

 
(a) +     (b) +    
(c) + (d) 
 
 



(22) Pituitary gland is plotted on - 
(a) Rt IF P jt    (b) Lt SF P jt    
(c) Lt MF P jt    (d) None   

 
(a)  Rt IF P jt    (b) Lt SF P jt  
(c) Lt MF P jt    (d)  
 

(23) Tulyarthata of Kidney is located on - 
(a)  Front of palm   (b) Back of palm  
(c) Wrist     (d) None  

 
(a)     (b) 
(c)  (d) 
 

(24) Time of Pitta is - 
(a)  8 am – 4 pm   (b) 4 – 6 pm   
(c) 8 – 10 pm    (d) None  

 
(a) 8 4  (b) 4 6    
(c) 8 10   (d) 
 

(25) Body hole mouth is plotted on - 
(a)  Rt IF K jt    (b) Lt RF P jt 
(c) Lt MF P jt    (d) None  

 
(a)  Rt IF K jt    (b) Lt RF P jt  
(c) Lt MF P jt   (d)  

(26) Tulyarthata of Sciatica nerve is located on - 
(a)  Both small finger  (b) Both Middle finger   
(c) Both Index finger  (d) None  

 
(a)   (b) 
(c) (d) 

(27) 5th month pregnancy will be treated on - 
(a) Finger no.6   (b) Finger no.5   
(c) Finger no.7   (d) None  

 
(a) 6   (b) 5
(c) 7 (d)  



(28) Action organ ‘Speech’ is plotted on - 
(a)  Lt IF K jt    (b) Rt MF P jt  
(c) Lt RF P jt     (d) None  

 
(a) Lt IF K jt    (b) Rt MF P jt   
(c)  Lt RF P jt  (d) 
 

(29) Tulyarthata of Hip joint is located on  - 
(a) Both IF P jts   (b) Both MF K jts  
(c) Both SF V jts   (d) None  

 
(a)  Both IF P jts   (b) Both MF K jts  
(c) Both SF V jts   (d) 

(30) Jal + Prithvi is combination of - 
(a)  Kapha    (b) Vaat   
(c) Pitta     (d) None  

+  
(a)     (b)  
(c)    (d)  
 

(31) Treatment of Kid stone will be on - 
(a) Lt SF K jt    (b) Lt RF K jt   
(c) Rt IF K jt    (d) None  

 
(a)  Lt SF K jt    (b) Lt RF K jt   
(c) Rt IF K jt (d) 
 

(32) Tulyarthata of navel is on - 
(a) Wrist     (b) Front of palm   
(c) Back of palm   (d) None  

 
(a)     (b)   
(c) (d)  
 

(33) Sense organ nose is plotted on – 
(a) Rt RF P jt    (b) Lt MF P jt  
(c) Lt SF P jt    (d) None  

 
(a) Rt RF P jt    (b) Lt MF P jt

(c) Lt SF P jt    (d) 
 
 



(34) Treatment of Intestinal worm is - 
(a) 3↓4↑     (b) 5↓6↑    
(c) 0↑9↓     (d) None  

 
(a) 3↓4↑    (b) 5↓6↑    
(c) 0↑9↓     (d) 
 

(35) Appendix is located on - 
(a) Lt side of body   (b) Rt side of body     
(c) In chest area   (d) None  

 
(a) (b)    
(c)  (d)  

(36) Blood tissue is plotted on - 
(a) Lt IF P jt    (b) Lt RF P jt  
(c) Lt SF P jt    (d) None  

 
(a) Lt IF P jt    (b) Lt RF P jt  
(c) Lt SF P jt    (d) 

(37) 8th month pregnancy will be treated on - 
(a) F.No.7    (b) F.No.6    
(c) F.No.8    (d) None  

 
(a)  7   (b) 6   
(c) 8   (d)  
 

(38) Tulyarthata of Uterus will be on - 
(a) Back of palm   (b) Front of palm    
(c) Wrist     (d) None  

 
(a)     (b)   
(c)    (d)  

 
(39) Bone tissue is plotted on - 

(a) Rt RF P jt    (b) Lt SF P jt   
(c) Rt MF P jt    (d) None  

 
(a) Rt RF P jt    (b) Lt SF P jt  
(c) Rt MF P jt    (d)  



(40) Agni + Jal is the combination of - 
(a) Vaat     (b) Pitta   
(c) Kapha    (d) None  

+  
(a)      (b)     
(c)      (d)  
  

(41) Tulyarthata of Anus will be on - 
(a) Front of palm   (b) Back of palm   
(c) Wrist     (d) None   

 
(a)      (b)    
(c)     (d)  
 

(42) Radiance energy is plotted on – 
(a) Index finger   (b) Middle finger    
(c) Ring finger    (d) None.  

 
(a)   (b)    

(c)   (d) 
 

(43) How many action organs are - 
(a) 8     (b) 7 
(c) 5     (d) None  

 
(a) 8     (b) 7  
(c) 5  (d) 
 

(44) Constipation is related to - 
(a) Kidney    (b) Large Intestine     
(c) Heart    (d) None 

 
(a)     (b)    
(c)    (d)  
 

(45) Bone marrow tissues are plotted on - 
(a) Ring finger    (b) Middle finger  
(c) Small finger   (d) None  

 
(a)    (b)  
(c)   (d) 
 



(46) How many metaphysical elements are - 
(a) 3     (b) 4  
(c) 5     (d) None  

 
(a) 3     (b) 4  
(c) 5 (d) 
 

(47) Tulyarthata of Heart is located on - 
(a) Abdomen    (b) Chest    
(c) Leg     (d) None  

 
(a)      (b)    
(c)  (d)  

(48) Energy ‘Ahankar’ is related to which element - 
(a) Kaal     (b) Disha 
(c) Mann    (d) None  

 
(a)      (b)   
(c)     (d)  

 
(49) Finger No.1 is related to which element - 

(a) Vayu     (b) Agni  
(c) Akash    (d) None  

 
(a)     (b)   
(c) (d) 

(50) Tulyarthata of Liver is in - 
(a) Chest    (b) Abdomen   
(c) Leg     (d) None  

 
(a)     (b)    
(c)     (d) 

……..

 

 

 

 


